1. (3x-4y-3)+ (x—2y-3)= 7ts] oFH?

D 2x-3y+6 @ 2x-2y+4 ® 4x-4y-6

(@)4x—6y—6 ® 4x-6y+6

Bx—-4y-3)+ (x—2y-3)
=3x-4y-3+x-2y—3
=4x—-6y—6




2. (2x=5y—1)+ (3x -3y +2) = 7+H3] 5HH?

@D 2x-3y+2 @ 2x+5y-1 ® 5x—6y+4

(@)5x—8y+1 ® 5x-5y+3

(2x-5y—-1)+ (3x—-3y+2)
=2x—-90y—1+3x-3y+2
=5x—-8y+1
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D 2x+y @ 3x-y+1
@5x+3y ® 6x+ 5y

® 4x+y-3

A+ (-x—-2y) =4x+yolB=Z

A= (4x+y) - (~x-2)
=4x+y+x+2
= 5x + 3y
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A, B, C °f thoto] —(2x2 + 7x) + (x? +9x - 4)

=Ax2+Bx+C

—(2x% 4 7x) + (x* + 9x — 4)
=-2x-Tx+x>+9x-4
=-x>+2x-4

watd A=-1, B=2, C=-40]2&
A+B+C=(-1)+2+(-4)=-3

=, Ax? + Bx+ C = —x? + 2x — 4 °|t},




8. A (3x% +x—2) + (=5x° — Tx + 1) & Zhk3] 5FR?

@—2x2—6x—1 @ -2x2+6x+1 @ —2x2-5x-1

@ 8x2—-4x-1 ® 8x2+4x+1

(Bx2+x—2)+ (-5x? - Tx+ 1)
=32 +x-2-5x2-Tx+1
=-2x2-6x-1
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D —6x% + 2xy —y? @ —6x% + xy + 3y?

(@)Gx2 +xy -2

® 2x% — xy—y?

® 6x% — xy+ 3y?

2x X (=y) +2xx3x+y X (=y) + yx 3x
= —2xy + 6x2 — y% + 3xy
= 6x% 4+ xy —y?
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@ 4(x2 =3x) - (3x* —6x+7) =Ax> + Bx -7
2x2 —3x+1 _x2—2x—|—3 - Cx*+Dx+E

© 2 3 6
D Aa=1 ® B=-6 ®Cc=14
@ D=-5 (@)E=3

B

@ 4(x% = 3x) — (3x2 = 6x+ 7)

—4x2 —12x—3x2 +6x—7
=x2-6x-7

= Ax? 4+ Bx—T7=x%-6x—"7 ©|t}.
webA A =1, B=—6 o]t}

2x% —=3x+1 _x2—2x+3

© 2 3
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- 6 - 6
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- 6 - 6
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18x2 = 27x  2x% —16x+ 10
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12. F o34 A, Bol thoto] A«B = A-3B 2t %

,B=x*-3x+5°] ot (A«B)«BE ‘_}?}6]8}?3?

@ -5x% -20x-22 @—5x2+20x—34
® 2x2-x+1 @ 2x°+5x+9

® 5x2+22x—4

B

(AxB)*B=(A-3B)-3B=A-6B0|E&
(x> +2x—4) - 6(x* - 3x +5)
=x%2+2x—4-6x>+18x-30

= —5x% + 20x — 34
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(x%,y,2x,y = 1) + (2x, 2y — x,—x,y) — (3%, 3,y,2 + y)

=22 —y(y=1) + (=24%) = y(2y - x) - {3y ~¥(2 + ) }
=2x%2 -2 +y—-2x% - 2y? + xy — 3xy + 2y + 2

= -2y +3y-2
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" A+B=-2




